
 
5. Potenz-Gesetze (Teil 1) 
 

 Produkte mit gleicher Basis 
Beispiel:   72 · 73 = (7·7) · (7·7·7) = 75 = 72+3        Also:   
 

Aufgabe 1 

a)  53 aa       b)  64 53 bb       c)  54 )()( cc      d)  523)( ddd       

e)  )4( 43
2
1 ee     f)  )( 63 ff      g)  63 )( gg      h)  4

2
133 32 hhh    

i)  32 265 xxyx    j)  )(2 24
4
12 yyxyx    k)  )(10 423

5
1 xyyx     

 
 
 Potenzen eines Produkts  
Beispiel:   (5·7)3 = (5·7) · (5·7) · (5·7) = 53 · 73       Also:   
 

Aufgabe 2 

a)  53)5( aa      b)  44 )3()2( aa     c)  44 )3()2( aa     d)  523 )3()2( ddd     

e)  33
2
1 )4()( ee     f)  43 )()( xyxy     g)  32 )()3( xyxyz     h)  4

2
133 )(3)2( bcbabc     

 
 
 Potenz einer Potenz  
Beispiel:   (52)3 = (5·5) · (5·5) · (5·5) = 56 = 52·3       Also:   
 

Aufgabe 3 

a)  432 )(aa      b)  5335 )()( bb      c)  54 )( c      d)  23
2
142 )()2( dd       

e)  43
2
1 )(de      f)  )()( 6523 fgf    g)  4321 )( zyx     h)  54

2
132 ))(32( hhh     

i)  2332 )3()2(5 yxxyx     j)  224
4
132 ))(()2( yyxyx     k) 22232 )2(])3(2[ yxxyx     

 
Aufgabe 4 
a)  3a3  a     b)  3a3  a3     c)  3a3·a3      d)  (3a3)3 · a3 

e)  a3  (3  3)a   f)  (33  3)a3  3a   g)  (3a)(3a)3     h)  3a  (a  3a)3 

i)  (3  33)3a  a    j) 3a  (33 : 3)a    k)  (a3  3a3)3  (a3)3   

 
Aufgabe 5 
a)  3,0·106  ·  5,0·103    b) 6,0·102  ·  4,01·105     c)  0,70·102  ·  5,0·108   

 

an· am = an + m 
aIR;    n,m IN 

(a· b)n = an·bn 

a,bIR;    nIN 

(an)    = an · m 
aIR;    n,m IN 

m 


